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rSDVSTRIAL MANAGEME:\,T AND SAFETY

[time: 3 hours

(Maximum ma:i<s: 1(0)

PART-A

(Maximum mari<s: 10)

Marks

I Answer 01/ questions in OIIC (lI' """ sc::dalas. Ead! qu<SLion c:anies 2 marks.

I. l..isI three types of Incentives given 10 workers.

2. l..isI any two requiranen£s of quality.

......-- ... ..."

4. Whai is Ihe ru:me of point at which ~1J1Ximinjequal 10 Minimax ?

S. List the faa"", using to OIl!l1jlUIe Wodcplaoe safely performance. (Sx2 = 10)

PAJIT-B.

(MRJ<i:m:m mari<s : 30)

U ArISwcr any five of the-fuIJowing quesiims. Eoch q\leSli<)n comes 6 rnarlcs.
.

1. Describe in brief diffeient :ypes of 0wDeahips.,
2. Write di1fcrent types of WBgCs.

3. List teD rnan1nIs of TQM..

4. Oe6<:ribe purchase ~. .~

S. List applications of PERT and CPM ..

6. Describe the Role of Safety Officers.

7. List the SlItk: Organizations fuc promoting Entrcll":n",,,.. (5x6= 30)
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PAlIT- C
(Max.imum· marb ; 60)

(Answer OM full queslion from each unit Each NIl que.oon ",,"cs 15 mark$.)

USIT - J
•

III (a) Describe Halsey plan.

(b) Compare the cxmtn"butioDs. of Taylo, and Heruy Fayol.
OR

IV (a) Desal'bc Coopeiati~ societies with ilS classificatiG71S.

(b) Explain fimetions of~. .

U1'rt - "
V (a) Dcoaibe overview of ISO 9000 Series of sIandards.

(b) Explain dunes and responsibilities of sIDre k..,.,...

O.

VI (a) Dcsaibe tho fimctions of Sales dC!>Orlmen!.

(b) Explain throe prong "I'JIIOOChes to quoIity planning.

Ul'rt - III
vn (a) OBw PERT NftWodc and lind tbe ai1ical path of.&mall proj«t «JDS!sIS of

eigbt aclivitits has the following data.
Activity Proceeding lime E.sJiIfUlIC

Acnvlty " Optlmi,tic Most Likely Pessimistic
~ None 2 4 12
B None 10 12 26
C A 8 9 10
0 A 10 IS 20.
s A 7 7.S II
F B,C 9. 9 9
o D J J.S 7
H E,FG 5 S 5

(b) ~ limes in houm in mad1irIos Iand n are 1O!Iov.s ;.
Product A B C '/bIoI I/O"" Avollable

:lit"",""", 31Ds. 2In. 2lus. 4SO hrs..
Macbine n 2 hrs._ 3 hIs. .~3 hn:. S40 Ius.
Pn>fit Rs.10 Rs.6 IUS

8

7

8

7

8

7

8

7

8

Note thai the .vail~ble boon of machines allit be exceeded. It is not possible
to setl more than 120 of prodv<;t A in the mark.. per month. Formulille this
problem 1(1 maxlrnilJe the profil 7

OR
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Mart,
VIII (a) By using North Well .,.,,_ Rule to find the initial solution of the Tmnsponation

problem, the n=osary daUs givCOl below.

·· •
!_-,
•

r
t
f•>•

IX
"
•· .

X

!actor/IIS A B C D Availalilliry

1 to ..9 ., 11 10

2 8 6 '9 7 8
3 . II 12 14 11 7

4 4 6 3 9 . 9

T01lIl 11. 12 S 6
Required

•

8

(b) Find EFT, L F To Float, Critical Jl"th of the Network, ond Project duralion
tiom the following daIa.

Activity Predecessor 1ime .l,'I'mates.
cctiviry (Welb)

A None S.
- -.,,~ ~ ... NClQC_ ...... - ... - . 3.

C A 1
D C 7.
E B 2

F E 2.

G D,F 3 7

U'TI-IV

(a) Dcscnbe S!fpS involved in IIImting SmalJ . Scale 1ndusIJy. 8

7
.'

(b) List any "-"""" Uafe oorulilions in an Industry.

O!t .

(a) Describe Aa:ident Prevenion IeclmiqllC in Industry. &

(b) Desaibe VllIiO\I$ fatJt C<lIllribu!ing~failures of EntIcpm1alr Vemures. 7

-
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